5.2
A A
As £-0 with 5\c<o, o =orc (1), >x = l+£%

A 2
ﬂoul’ (x:\—!—a\‘;\c} = Yeuto (1 ixé) +Edu\.‘,(l+£:7:c) -;—Y?Ce )
c ~(1+
= Q\::Q:(HSYI) +g€eb(l+€7£>€(‘ :c)+
+Q(e*)

= b(1—e¥x +o (™))

Aa.\ e: ( (~ €Y£>>
b

v i(-—\o(l-ez\’-;c\ )(\-g*a? +0(£7%))+ Aok, (\-e¥= +—oce“)>)

=
+0(&%)

2% o TY ot
-::E —QYED/E "‘Elb +€Am¥,\/6+0(€ 18 'e)

As afere  YOIL

gowne, QXPM%[DI\S 1 } AR‘\ = Aou.\-,\/é’b ) ER'\ = OJ

Hence 8 Ay+ B = Aru+Bri =0

E ‘ {AR.FBR.FO
obnig Aot = ooty Bri =0 Aru=Aubnjp — Aot =A== Br

=eb


Eamonn
Rectangle

Eamonn
Rectangle


S Youk 130) Scxh‘s{lz‘s BC o& x

Hewever lim - A
=g ncb&'( ) #

31-,! (x) = "e—\oil_ -+ Ca..e,bkx,_e."z‘- +-€b((-€ —3"") 5.2
Yeut,1 (X) = -ebx e ™ +ebe™ ™
3R,l (I—) - - \:.Xe'
Yoty = lim ( ebe X + geb(i-x )€ +o(e?)) = b+ o(e?)
xX=>1 x> |
: o [ = lm -2C _ -4 2 =
Jim g B = (ebe™* 4+ geb(i-x)e ™ +0(e?) = @o+ 0(€)

=1, ot Uast fo O(€?) 2 Boundany lowger not rﬂtfw'fed af x=1,
: Bowndary Lmau ot X =0 re(\/uifed.

Van Pyke's H&‘rc\r\xr\& Rk
. Using e intermediate vouriable ) yields lon3 cal ealatins

- Vo Dake's ma\'dm'r\% rule is %m‘c\(e( ond uSuauLi wecks ¢

m temsg innes [(n terms Ou\-er)] =n fems outer [(m terms (nn,o/)]
- —

— )

e —


Eamonn
Rectangle

Eamonn
Rectangle

Eamonn
Rectangle

Eamonn
Rectangle

Eamonn
Rectangle

Eamonn
Rectangle
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“Thece afe huo dominant balances
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